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N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 6/1

h i i
5rooma icity (X, y)

CIE 1931

Munsell System Y,,=100, Mex
C=2,V=1, 2,5,8 &9, Mex

<

0,0 0,2 0,4 0,6

0,8
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Xw=96,79Y,,=100,00Z,~111,46 B,
%y=0,3140y,,=0,3243 20
Aq=(ag=[ag n*ap a*ap,v]) Y
Bo=(bo=[bo,n*bo,a*bo,v]) Y
g = a0 [x/Y] L
by = bao [2/Y]

ay=1, by=-04 /‘\
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n = Mex

10 \ \\QJ ' 10
ag,y=ay(Y/Y1g-1) ex

b, y=boy(Y/Y1g-1)
a,y=0,000,b,,=0,000
ap,=0,018,by 4=-0,013
Munsell System Y,,=100, Mex

C=2,V=1,2,5,8 &9, Mex T-10

chromatic value (Ag, Bo)

0,000 0,000
0,000 0,000
0,000 0,000
0,000 0,000

CE770-1A_6

CE770-2A_6

Xw=96,79,Y,,=100,002,~111,46 B,
,3140y,,=0,3243 g
Ar=(ag~[ag ntag atay v) Y
By=(b1=[by,ntby atby v]) Y

ay = ago[(x-0,179H]

by =byo[2/4]

ay =1, byp=-0,4
Mr;=1,000b7,=0,171 :
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n = Mex -10
ay y=ay(Y/Y1g-1)

Xw=96,79Y,,=100,00Z,~111,46 B,
%y=0,3140y,,=0,3243 it
Ax=(ay-[ag ntap atao vl) Y
Bo=(by=[b b atbp v]) Y
a =g [(x-0,171)/y] +
;=50 [(MpyX+hp)/y]
ay=1, byp=-0,4
mp1=-0,169,bp;=0,389 c
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n = Mex -10
85 y=ay(Y/Y1g-1)

’\\#ex I -

0,000 0,000
by v=boy(Y/Y1g-1) by y=boy(Y/Y1g-1) 0.000 0,000
a,y=0,000,b,y=0,000 ayy=0,000,b,y=0,000 i 0,000 0,000
ay 4=0,014,0; o=-0,008 ap 4=0,014 by x=-0,008 0,000 0,000
Munsell System Y,,=100, Mex Munsell System Y,,=100, Mex
C=2,Vv=1,2,5,8&9, Mex T-10 C=2,V=1,2,5,8&9, Mex T-10
chromatic value (A, B;) chromatic value (A,, B)

CE770-3A_6 CE770-4A 6

Xy=96,79,Y,,=100,00Z,~111,46 B, X,=96.79,Y,=100,00Z,~111,46 B,
Xy=0,3140y,,=0,3243 +10 - ﬁ% xw=0,3140y,,=0,3243 T10 — ﬁ%
Ag=(ag-[ag ntag atagy]) Y — V=5 As=(ag~[ag nta, atau,yl) Y — V=5
B3=(bg=[b3,rtbs atbs v]) Y — v=8 B4=(b4=[04,rtbs, atba v]) Y — V=8

ag=ay [(x-0,171/] i
b=y [(Mpx+bp1)/y]

ay = a0 [(x-0,179] 1
b=y [(Mpyx+hp)/y]

ay=1,byp=-04 r> ay=1, by=-04
Mpy=-0,974,0,=0.658 : ) \ A.;3 mp;=-0,169,bp1=0,389 ; ‘Q ' >
n = Mex -10 L_/L/ 10 n = Mex -10 Y 10
3 y=2y(YV1571) Mexo 000 0,000 2ay=2ov(YV1571) Mexo 000 0,000
b3 v=boy(Y/Y1-1) 1 0,000 0,000 by y=boy(Y/Y1g-1) 1 0,000 0,000
8,y=0,000,b,y=0,000 0,000 0,000 8,y=0,000,b,y=0,000 0,000 0,000
ag A=0,014 b3 4=-0,008 0,000 0,000 ay,4=0,014,b, o=-0,008 0,000 0,000
Munsell System Y,,=100, Mex Munsell System Y,,=100, Mex
C=2,V=1,2,5,8&9, Mex r-10 C=2,V=1,2,5,8&9, Mex T-10
chromatic value (A3, Ba) chromatic value (A4, By)

CE770-5A_6 CE770-6A_6
X=96,79.Y,,=100,007,711146 B, X,=96,79,Y,,=100,007,7111,46 B,
Xy=0,3140y,,=0,3243 +10 - ﬁ% x=0,3140y,,=0,3243 T10 — ﬁ%
As=(as—[as ntas atas y]) Y — v=5 As=(ag—[35 n*3 atasy]) Y — v=5
Bg=(b5[bs ntbs atbs v]) Y — v=8 Bg=(06~[be, i+, at+bg 1) Y — V=8
a5=a,,{(+0,861x-0,719/-0,026)¥] 1 ag=a,{x/y] +
bs=bo,{(+0,19%+0,386/-0,240)§] be=byy [(Mp1x+bp)/y]
a9=1,00,b,,=1,00 29,=1,00,b,=-0,40 /_\ \
Ap G,y R=475,508,574.494¢.E, im D : A;, Mp;=-0,974,b5;=0,658 : /] @\ : 3
n = Mex -1 3 10 n = Mex -10 k% 10
3 y=2y(YV1571) Mexo 000 0,000 % y=2ov(YV1571) 0,000 0,000
b5 v=boy(Y/Y1-1) 0,000 0,000 bg, y=bay(Y/Y1g-1) 0,000 0,000
8,y=0,000,b,y=0,000 0,000 0,000 8,y=0,000,b,y=0,000 0,000 0,000
a5 4=0,014,b5 4=—0,008 0,000 0,000 ap,4=0,018,b o=-0,006 0,000 0,000
Munsell System Y,,=100, Mex Munsell System Y,,=100, Mex
C=2,V=1,2,5,8&9, Mex T-10 C=2,V=1,2,5,8&9, Mex T-10
chromatic value (A, Bs) chromatic value (Ag, Bg)

CE770-7A_6 CE770-7N CE770-8A_6

o
O—10

oS 52 525 Munsell System Y,,=100, Xy=96,79,Y,,=100,00,7,,=111,46 B*u L
08" M, C=2, V=1, 2,5,8 &9, Mex X=0,3140y,,0,3243 110 =
oL CUEIELLY () *O:(aO_[aO.n+aO.A+aO.Y])Y18(Y/Y18)1g — V=5 Q —
> — v=1 B* g=(bo=[bo,r+bo,a*00,v1) Y18(Y/Y18) — v=8 - C
— V=2 3 = a0 [xy] 1 S W
. bo = byo [ =_
0= 1, byy= 0,4 W\ A%, 8 @
; = = - > =Q,
n = Mex -10 \\\ ﬂ ) 10 oo
SN &, aZV(Y/szl) N 0,000 0,000 S5 =
9%950,E Bo,v=by(Y/Y1g-1) T 0,000 0,000 s
8,,=0,000,5,=0,000 0,000 0,000 o =
ap.4=0,018,0y 4=-0,013 0,000 0,000 =0
CIE 1931 X Munsell System Y,,=100, 3 >
e C=2, V=1, 2,5, 8 &9, Mex T-10 o
00 b2 04 06 08 0 chroma (A*g, B*) D N

CE771-1A_6 CE771-2A_6 Q-) (@)
Xw=96,79,Y,~100,002,~111,46 B* X,=96,79,Y,,=100,00Z,~111,46 B*,, (£ =
X0, 3140y,=0,3243 E ST %,70,3140y,,=0,3243 1o V3 =X
A*1=(31‘[31,n+31,A+31,v])Y18(Y/Y13)1;3 — V=5 A*2:(a2_[aZ.n+a2.A+aZ.Y])Y18(Y/Y18)1;3 — V=5 D 8

*1=(by=[by tby by v) Yae(Y/Y19) /3 — V=8 B* 5= (D5 [z, +bp, A*b2 v Yae(Y/ Y1) /3 — V=8 3 o
ay = 2y [(x-0,179h] 1 2y = 20 [(x-0,17D)] 1 o2
by = byg [z b;=byg [(Mp1x+bp1)/Y] S
=1, byp=-04 %» A* 80=1, by=-04 A* 0
M1=1,000br; =017 : ‘ : e mp1=-0,169,0=0,389 — TS b’ om
n = Mex -10 «[ 7 10 n = Mex -10 D) 10 -
e = 0,000 0,000 Boy=ap/(¥¥1g1) 0,000 0,000 2
b1,y=bpy(Y/Y15-1) [ 0000 0,000 b2,y=ba(Y/Y15-1) 0,000 0,000 0 =
2,=0,000,b,,=0,000 0,000 0,000 ay,=0,000,b,,=0,000 0,000 0,000 - O
ay 4=0,014,b; o=-0,008 0,000 0,000 ay 4=0,014,0, o=-0,008 0,000 0,000 o M
Munsell System Y,,=100, Munsell System Y,,=100, < ~
C=2,V=1, 2,5, 8 &9, Mex T-10 C=2,V=1,2,5,8&9, Mex +-10 ~
chroma (A*;, B*4) chroma (A*,, B*») o —

CE771-3A_6 CE771-4A_6 E o
%,,=96,79,Y,,=100,00Z,=111,46 B*, X,,=96,79,Y,,=100,00Z,~111,46 B* , o4
*y=0,3140y,,=0,3243 110 =y %w=0,3140y,,70,3243 +10 = c T
A*3:(33_[33,n+a3,A+a3,Y])Y18(Y/Y18)5§ — V=5 *4:(a4_[a4.n+a4.A+a4.Y])Y18(Y/Yla)1g — V=5 .

57053 03 b3 Y] V(Y Y1) — V=8 B*=(04~[Da,#Da,4+04 v]) Y16l Y/Y19) — v=g Y
a3 = 80 [(x-0,1721] 1 ay = 30 [(x-0,171/y] 1 o
b3=byo [(Mp1x+0p1)/y] bs=byo [(Mp1X+bp1)/y] T
a0=1,byp=-04 3 * 80=1, byp=-04 * ~~
mMpy=-0,974 b, =0,658 \ o) A%y Mp1=-0,169,bp1=0,389 , N A E

D: . . , . > P . — - — » o
n = Mex -10 10 n = Mex -10 (- 10
3 y=2(Y/¥1571) = Mexo 000 0,000 2y=2(YV1571) Mexo 000 0,000 n
b3 y=boy(Y/Y1-1) 1 0000 0000 ba,y=ba(Y/Y15-1) 1 000 0000
ay,,=0,000,b,,=0,000 0,000 0,000 ay,=0,000,b,,=0,000 0,000 0,000
a 4=0,014 b3 ,=-0,008 0,000 0,000 a4 A=0,014 b 5=-0,008 0,000 0,000
Munsell System Y,,=100, Munsell System Y,,=100,

C=2,V=1,2,5,8&9, Mex T-10 C=2, V=1, 2,5, 8 &9, Mex T-10
chroma (A*3, B*3) chroma (A*4, B*4)

CE771-5A_6 CE771-6A_6 —
X=96,79,Y,=100,007,~111,46 B* , X,=96,79,Y,,=100,00Z,~111,46 B* -
Xw=0,3140y,,=0,3243 110 =\ Xw=0,3140y,,=0,3243 +10 g /=L W

*5:(35_[35,n+35,A+aS,Y])Y18(Y/Y18)1;g — /=5 *6:(36_[aﬁ.n+aﬁ.A+aﬁ.Y])Y18(Y/Yla)1;2 — v=5 3
B*5=(b5[bs rit0s A+Ds v]) Y1g(Y/Y19) — v=8 B* g=(0g~[be, 06, a*06,v]) Y16(Y/Y19) — V=8
a=3,[(0,861x-0,719-0,026)§] | ag = ay [xly] 1 Q
bs=by,[(0,199+0,386/-0,240)4] bg=hoy [(Mp1x+bp1)/y] )
25,=1,00,b,,=1,00 L . 85,=1,00,b,,=-0,40 L * =.
Ag.c,v,R=475,503,574,494¢,E nm W N A Mp;=-0,974,b;=0,658 /72N A% Q
n = Mex 1 ' “\J é/ ' 10 n = Mex _10 \Y J :/ ' 10 by
3,y=3(¥/¥151) 0,000 0,000 % y=3(YV1571) 0,000 0,000 Q
b5 y=boy(Y/Y1g-1) 0,000 0,000 b, y=bay(Y/Y15-1) 0,000 0,000 o
ay,,=0,000,b,,=0,000 0,000 0,000 ay,=0,000,b,,=0,000 0,000 0,000 o
a5 4=0,014 b5 ,=-0,008 0,000 0,000 ap,4=0,018 b5 o=-0,006 0,000 0,000 D
Munsell System Y,,=100, Munsell System Y,,=100, 11
C=2,V=1,2,5,8&9, Mex T-10 C=2, V=1, 2,5, 8 &9, Mex T-10 =
chroma (A*g, B*g) chroma (A*g, B*¢)

CE771-7A_6 CE771-7N CE771-8A_6

TUB-test chart CE77X, y), chromatic valuesA, B;), chroma A*;, B*;), adaptation: 5A#0, 5Y=0

Munsell Chroma2, Value=1,2,5,8 &9; experimental illuminant M (X, Y)vex=(0,3140, 0,3244)
C M Y [0] L WY
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